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OCaml 1259745 (1)

[oiwa@tuba] ~> ocaml
Objective Caml version 3.06

#1+2;5; test.ml D5 :
- : int = 3 1+ 25

. "_ " wpa” A “St",‘,‘
# #use “test.ml”;;
- : int = 3;
- : string = “Test”
# AD

OCaml 125975 (2)

s TS0
# 1+ 2.0;;

This expression has type float but
is here used with type int

s Emacs & D&
ocaml-mode

ocamldebug
s EULKIFYZ27ILEE




[
[EDEZEFIA (1)

mlet3: FYITURNILDEE

# let a = 3;;

val a : int = 3

# let f x=x+ 1;;

val £ : int -> int = <fun>
= BAEER

# f a;;

- : int = 4

[
(EDEZEFIA (2)

mlet...

in3: O—HIWKEE
# let x = 2;;
x : int = 2
# let x = 3 in x + X;;
- : int = 6
# x5
- : int = 2
# let f x =x + x1in f 2;;
- : int = 4

[
-'fEJi AdEL (1)

n %iﬁ (mt)
# 3+5) *8/ -4;;
- : int = -16
#5/ 4;;
- :int =1
# 5 mod 4;;
- :int =1
# 3 <2;;
- : bool = false
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[
-'fEJi AdEL (2)

" %iﬂl (float)

# (3.0 +. 5.0) *. 8.0 /. 0;;
- : float = -21.333333

# 1.41421356 ** 2.0;;

- : float = 2.000000;;

# 3.0 < 2.0;;

- : bool = false

[
2 A HEBE (3)

. Eﬁ%ﬁ_ (bool)
#2<3&&2.0>=3.0;;
- : bool = false
#2<3 || 2.0 =3.0;;
- : bool = true
# not (3 < 2);;

- : bool = true
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[
1Hdr:A HEY (4)

] Y—?—?U (strlng)

# “str” A “ing”;;

- : string = “String”

# print_string “Hello¥nworld¥n”;;
Hello

World

- : unit = ()




[
8 A HEBE (5)

= Tuple
# 3+5,5.0-.1.0;;
: int * float = 8, 4.000000
fst (3, 2);;
: int = 3
snd (3, 2);;
: int = 2
(3, true, “A™);;
: int * bool * string = 3,true,“A”

I = 1 %= 1 = |
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[
BEEYESL (1)

u B9%K (function)
# let f x = x + 2;;
val £ : int -> int = <fun>

#
- : int = 4

# fun x -> x + 2;;

- int -> int = <fun>
# (fun X -> X + 2) 2;;
- : int = 4

[
BEEYES (2)

= %5|5RR8%K
#let fxy=x%* X+Y);;
val £ : int -> int -> int = <fun>
# f 2 4;;
- : int = 12
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[
BEEYES (3)

n [BE] %5 | MBI DEY
= 73U —1E (Curried) &I}

$#let fxy=x+y;;
val £ : int ->!int -> int!= <fun>
# f 2;;

: int -> int = <fun>

(f 2) 4;;

: int = 6

LI |

[
2 AP DB (1)

m ﬁﬁﬁma (let...in ...)
n FFSIK: if

# let f x=14if x < 2

then “smaller than 2”

else “not smaller than 2”;;
val £ : int -> string = <fun>
# f 1;;

- : string = “smaller than 2”
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[
$Hd AP DB (2)

= BIREAEIDESR: let rec
# let rec fib x =
if x < 2 then 1
else fib(x-1) + fib(x-2)
val fib : int -> int = <fun>
# fib 10;;
- : int = 89

30




[
0 AP DB (3)

= BIRREA%N (#%)
# let rec pow x n = if n = 0 then 1
else x * pow x (n-1);;
val pow : int -> int -> int = <fun>
# pow 3 10;;
- : int = 59049
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[
$Hd AP DB (4)

. *EEﬁ'JmF‘aEJ*S{ODHEﬁ

# let rec even x = 1f x=0 then true

else odd(x-1)
and odd x = if x=0 then false

else even(x-1);;

val even : int -> bool = <fun>

val odd : int -> bool = <fun>

# odd 5423;;

- : bool = true
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[
$Hd AP DB (5)

n Iet & Iet rec ODEL\
#'Ietfx_x+3,,

**

let f x = f (x-1);;
f 2;;
- : int = 4

ES

# let rec f x = f (x-1);;
f 2;; (x EESTHL *)

£
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[
sRie 1

s IFEEBH2 DODDRALKIE =
k&HBEE gecm s int > int > int &
gL
= £ I Euclid OERRE.
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[
iRRE2

mpow ZHRUTLDERICE L,
s STEEESIH n D log A —5ICT B,

= E2F:nmod2 THIK,
a0 =1
a2 = (a x a)" [n > 0]
a2n+1 = g x (aZn)
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[
SREE3

s fib ZRUTEDERICE L,
s STEEESIHM N O1UROA—5ICT B,

= EV b 35D E(Fo C...
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